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General Instructions:

Mo

1.

The question paper consists of 18 questions divided into 3 sections A, B and C.

Section A has total 3 questions having a multiple-choice question and 2 case study-based questions.
Section B has 6 objective-type questions.

Section C has total 9 questions having five questions of 2 marks each and two-two questions of 3
and 4 marks each.

There is no overall choice. However internal choices are provided in each section. You have to
attempt only one of the alternatives in all such questions.

There is no negative marking.

Use of calculators is not permitted.

s 31 SECTION A

917 8 FglAHENT ITHI & | §eAF ITHIT 1 HF FT81
Q1 has 8 multiple choice sub parts. Each Sub- part is of 1 mark.

() 3xOTRE:
3 x 0is equal to:

a) 0 b) 1 c)3 d)-3
(ii) T HOTcH JUITehl T 0TI BIITT:
The product of three negative integers will be:
a) YdlcHs  Positive integer

b) RUTcH® quiteh  Negative Integer
c) YellcHe YUiTeh AT HUTcHS qulTeh Either Positive or Negative Integer
d) sAF T HS AT None of these




(iii) Th oI o fohcdel Beleh Bl 6?2
How many faces does a cube have?
a) 8 b) 2 c)6
OR/37&ar
T GoTH o fohcel fhellX Bl g ?

How many edges does a cuboid have?
a) 4 b) 8 c)6

(iv) TSR 10T ST 379 qTeh hIUT & s o
The angle which is equal to its complement:

a) 90° b) 180° c) 45°

(v) 0.2%0.16 =2

a) 0.18 b) 1.8 c) 0.032
OR/3rar
0.3x0.15= ?
a) 0.045 b) 4.5 c) 0.03

(vij fRuITagH e HF O THA FIRITFAT § ?

Which of the following is the front view of the given solid?

d) 4

d) 12

d) 75°

d) 0.32

d) 0.45

a) b) A c)

(vii)  Th IETEUS & fehcel 37 foig gl & 2

How many endpoints does a line segment have?

a)l b) 2 c)0
OR/31ar

T 0T & fohctal 3ic g gl 872

How many end-points does a ray have?

a)3 b) 1 c)0

(vii) faefaf@aaa T % 79T Y 2T &7

Which of the following represents the % part?

a) b) c)

o []

d)3

d) 2

d)




72 3N 7 3 Fw &St IreRa goT & | 9% 5 w3 IrenRa weT # 5 3gsmer § QA & 9wt
FIE 4 ITIHTIT o W 8] GeAFH ITHIT 2 HF T &

Q 2 and 3 are case study based questions and each case study based question has 5 sub parts. You have
to attempt only 4 sub-parts out of these 5 sub-parts. Each sub-part is of 2 marks.

2. el 3R M FAhfoteh T ITT| N HT o 3¢ Teh 5 I et Y Sicied |
alelt o fAehfeieh TX SgT 31TeTe; 3oTaT| Tged % $1TaT gt T AR anfecy
7 < ST ST TR (ST §3T OTelT 3egiet AThT qEY e b & o |
Rahul & Aditya went for a picnic. Their mother gave them a water bottle of 5 litre.
Both of them enjoyed the picnic. Rahul consumed % th water and Aditya consumed gth WATER
water and they gave remaining water to other students.
59 "o W 3mUIRT AT 9ot & 3R §ifSv)
Based on the above situation answer the following questions.
i) r@qﬁrmqﬁﬁﬁm?
How much water did Rahul drink?

(@) 1L (b) 2L (c)5L (d) 3L
i) 3feca o fhdar arelt 9 ?
How much water did Aditya drink?
(a) 3L (b) 5L () 1L (d) 3L

i) OTeiY ST fohcaAT $TeT SThT o st & fe T arm »
How much fraction of water did they give to other students?
(8) < L (b)sL (L (@)L
iv) @ﬁmammmw?
How much more water did Rahul consume than Aditya?
(@) 2L (b) 5L (c) 1L (d) 3L
v) ToRdeT arelt aTehr sdt o 9T ?

How much water was consumed by other students?
(@) 3L (b) 1L (c) 2L (d) 4L

3. Ol & U Tl & 3eT hr 3R Wi § | veh dex T
FOR Tl HIET (ITfY Tgrell AN TR FT g7 & | e Al Higr
W g1 AT a8 U Sorer A 3 At A i 3R 3R 3rereh
BARTA ST AT IR Hr AT ATATE M-

A water tank has steps inside it. A monkey is sitting on
the topmost step (i.e. the first step). The water is at ninth
step. If he jumps 3 steps down & then jumps back 2 step
up then:-
i) fecietl SellaT & g Tl & T TFoh Tgd ST ?
In how many jumps will he reach the water level?
(a) 10 (b) 11 (©9 (d)8




et elieT & ag 7dt e qTq%:é?rr?
In how many jumps will he reach the 7" step?

(a) 07 (b) 8 ()5 (d) 8
Je T Sell9T [AFATATET 7 8 Ford & gaRT g2TS ST Fehll & 2
The jump of monkey can be represented by which of the following:

(a) -3-2 (b) 3-2 (c) -3+2 (d) 3+2

e 9 & 91 98 a9y ST I8l &1 39 I & [ov 98 T olieT & 4 T I Hr
3R 3R 30TeT Saer &7 2 WA Jd F 3R AT § | Trdel Sl # 98 T9d SR arelr dler
T IE T SATTIT?
After drinking the water, he wants to go back. For this, he jumps 4 steps up and then jumps 2
steps down in every move. In how many jumps will he reach back the top step?

(a) 6 (b) 7 (c)3 (d)5
qgell TelleT A TE fohd HIGT TR Tg oo ?
At which step he will be in first jump?
(a) grardl/ Fifth (b) &Y/ Third

(c) Tt/ Fourth (d) g8/ Second

s « Section B

4, T H ¥ 5 IR RaFd TUT AR 4x1=4

5.

Fill only 4 blanks out of the following;

i) (88)+__ =11
i) ~x =

iii) & 9 3T F x & AT A HIfAT|

. : . . x 500
Find the value of x in the given figure.

iV) ST 3TehRT &1 faaAT g |

Solid shapes have dimensions.

V) 03545 =

AT fifaT | 4 x1=4
Match the following:

i) STHIT & 100m ¥ Fdis )
100m above the ground
i) 3000 do & fAeRTeTaTT
Withdrawal of *3000 from bank
i)  AT9HAT T 5°C &1 ¢)+100
Rise in temperature by 5°C
iv) e Tl @ 1200m &Y
1200m below the seal level

a) +5

b)-1200

d)-3000




5. 6 -9 HIF g FTOT T 8 | FAF T 1 HF FT81
Q. 6 - 9 are very short answer type question. Each question is of 1 mark.

6. TATHF forda AT Fag?

How many vertices does a cuboid have?

7. x @ A AT HIGT |
Find the value of x. 1%

8. IEx + 29 = 100 A X & AT AT HITAT |
If x + 29 =100 then find the value of x.
OR/37¢ar
G250 + X = 5 ArX I AT ATd hITAT|
If 250 + x = 5 then find the value of x.

9. 2% FTY% AT AT
Find Y% of 2 %a.

¥us § SECTION C
g 10 -14 939%F g7 2 3i% &7 &1 Q no. 10 -14 is of 2 marks each.
10. T TeFIanToT (337) UTohaT & A & dTIHTT l 40° C H 5°C Ui ¢ T &3 T e el hl ATTThdl

B SEUTHATH YR &l 6 10 T TG HHAL T ATTHT FAT AN ?

A certain freezing process requires that room temperature be lowered from 40° C at the rate of 5°C
every hour. What will be the room temperature 10 hours after the process begins?

11. Y HYIH IV T 3IATd 3:2 8 | BIE HI0T T AT AT HITAT |
The ratio of two supplementary angles is 3:2. Find the measure of smaller angle.
OR/3rerar

gg HIUT AT HITSIT ST AT YT HI0T & S ¢ |
Find an angle which is equals to its complement.

12. AT 37 %6 9fA e Y a1 & 9= STt €1 8 fohamr et & e wirad FifSw
The sugar is sold at * 37 % per kg. Find the cost of 8kg of sugar.

13. ITE 24 GEcehl T 1A X 2986.80 & il 1 GEcTeh I HIFT AT hiford]
If the cost of 24 books is T 2986.80 then find the cost of 1 book.




14. @carad fifad/Verify the following :
18 x [7 + (-3)] = [18x7] + [18 x (-3)]
OR/3r&ar
(-21) x [(-4) + (-6)] = [(-21) x (-4)] + [(-21) x (-6)]

g 15-16 93% g9 3 3% #T §1Q no. 15-16 is of 3 marks each.
15. foRdT ¢¥e A Y AS TEY 3T & [T +5 37 fGU ST § 3R 9 317 3T & foIw (-2) 3id RUuSATa § |
i) Fiadr o7 Teft weat & 3R feu 31 30 31 9T fohu STafeh 39 10 30X T 91T T |

ii) ST Y o7 el weaAt & 3T T 31 (-12) 37 9o U STafeh 38 IR 30 HE 91T 7T
38 T YA of el U=l o 381 ITeld fgu ?

In a test (+5) marks are given for every correct answer and (-2) marks are given for every
incorrect answer.

i) Savita answered all the questions and scored 30 marks though she got 10 correct answers.

ii) Jai also answered all the questions and scored (-12) marks though he got only 4 correct
answers.

How many questions each of them had attempted wrong?

16. TF 3Ad $T ofFa1s 71 cm AT dis$ 2.5cm g1 3T FT &T%hd AT DI |
The length of a rectangle is 71 cm and its breadth is 2.5cm .What is the area of the rectangle?
OR /37&ar

Teh TH SEIST I T ST HT oEalg 2.5cm ¥ | SgIsT 1 URAT 25em & | 56 ST AT
fehcietr s &2

Each side of a regular polygon is 2.5 cm in length . The perimeter of the polygon is 25 cm. How
many sides does the polygon have?

g 17-18 3% Je74 HFFTE 1 Q17 - 18 is of 4 marks each.

17. T ar 9fgam aest 1 ofiex 9o & 53.5 fRafr &y gff a7 &ear g1 20 ofexX 9gia & ag
fehcrelt g T am ?

A two wheeler covers a distance of 55.3 km in 1litre of petrol. How much distance will it cover
in 20 litres of petrol?

18. TAe=TAfEd o1 3Mehicral &7 STl S=1ST |
Draw the nets of the followings solids.

i) ii)




